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������ 1. a) ��������	 
 =
4

1 � �	
����	 ��������� 4x 2 +5x+1 = 0       0,5 �.

�	
����� 
	���� x1 = – 1, x 2 = – 
4

1
                                    1 �.

�������� ��	��	�� �� A = – 1                                            0,5 �.
�������� ��	��	�� �� B = 3                                               0,5 �.
��������: x 1 = A ∠ x 2 ∠ B                                                    0,5 �.

�)  �������� D = 4k( k+2)                                                         1 �.
�������	 ��
	��� �� D                                                      1 �.
�������� ��	��	��� k1 = 0   k 2 = – 2                                  1 �.
���	�: k = –  2                                                            1 �.

������ 2. a) �������� �	��	����� ������ �

�	
����	  AC = 
2

1
AB                                                         0,5 �.

�	
����	 � AMC – ����	�������                                     0,5 �.
�	
����	 � CMB – ����	������                              1 �.
�	
����	 � CDO ≅ � CEO (CM ∩  DE � �	�
� O)          1 �.

���	�: CD = CE =
2

1
BC                                                       1 �.

�)  �	
����	 DF� ME                                                              0,5 �.
�	
����	 ME – ������ 	����
� � � ABC � ME = 3c�.       1 �.
�	
����	, ��  DF  ������ 	��	�� � ������ AMEC            1 �.
�������	 DF = 4,5 ��.                                                          0,5 �.

������ 3. ����������� 2585 + n 2 = k 2 , 
��	 k∈N                             1 �.
����������� 2585 = k 2 – n 2                                                 0,5 �.
���
����� 1.5.11.47 = ( k – n).( k + n)                                  1 �.
� 	�  k + n > k – n ����
����� ����	��	���:                      0,5 �.

                        k–n = 1  �   k+n = 2585  �
�                                                   0,5 �.
                        k–n = 5  �   k+n = 47.11 �
�                                                   0,5 �.
                        k–n = 11 �  k+n = 5.47 �
�                                                    0,5 �.
                        k–n = 47 �  k+n = 5.11                                                           0,5 �.

�������� ��	��	��� �� n: n = 1292, n = 256, n = 112, n = 4        2 �.
  (�� ���
� ��	��	�� �	 0,5 �.) 
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